GEO –XII E EXERCISES CHAP 8
Q1.What is the steps (measures) of industrial policy (LPG)?  
Ans. Page no. 96 right side, second Para. This policy ...........point (1)........point (2)   
Q2.What is Globalisation? What are the benefits for the economical development of India?  
Ans. page no. 98 left side second Para.......    
Globalisation.................to another. In Indian context.... (1)...........(3).  
LESSON 9  EXERCISISES
Q1.Define.... 
(1) Planning 
(2) Rolling plan 
(3) Target area or target group
(4) ITDP       
Ans1 (1) Planning is a sequence of action designed to solve the problems in present as well as in future. 
(2)Between the 3’rd & 4’rth Five Year Plan, there are two consecutive droughts during mid sixties and war with Pakistan in 1965.So plans were implemented under annual plans. This period is called rolling plan. 
(3) The economical backward areas which have been taken special care by Planning Commission.
(4) Integrated Tribal Development Project.
Q2. What are the social benefits of ITDP in the Bharmaur ? 
Ans. Bharmaur tribal area comprises of Bharmaur &Holy tehsil of Chamba dist. Of Himachal Pradesh. Its existence is notified tribal area since 1975. In 1974 under the 5th Five Year Plan, it is included in tribal sub-plan in one of the ITDP. This area development plan was aimed at improving the quality of life of Gaddis.  
   The plan includes-  
· Development of transport & communication.  
· Development of agriculture & allied activities. 
· Development of social & community services. 
· Development of infrastructure in terms of school, health facilities, cleans water, roads& electricity.  
Q3.What is the positive impact of irrigation on Indira Gandhi canal command area?  
Ans .The introduction of canal irrigation in this dry land has transformed ecology, economy & society.  
The availability of soil moisture for a longer time period various forestation programme.
